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And the snake; these are 237y _ 2Ty Yo v wmam

OVERVIEW

The mwn mentions various wild animals, including a snake, that are considered
0>791 (and they pay a o%>w p1i the first time they damage). It may seem (as others
maintain®) that these animals are liable for any damage they do (and wherever they
do it). mo0In, however restricts their liability.
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Not by all types of damages are these wild animals considered 27y, but
rather each one is considered a 79, only if he damages in the manner he is

accustomed to -
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For instance, if a wolf came and was 19, a lion came and was 997 or the lion

was 137 n=W. In all these instances they are considered 0>7v 1 for it is RN -
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However if the animals damaged in an unusual manner; for instance if a lion

was 7281 07w (like a wolf), and similarly other damages which are unusual for

this animal to do, then -
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They are not 2°7v1», but rather they pay (only) a 12'n.

mooIn qualifies the previous ruling:
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And concerning damaging in their usual manner, where they pay a @', that is

only if the damage was done P1°177 9313 -
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However, if the damage was done 2'"7192 they are 91w, for it is considered 3w
9'"'5792 (since it was done %7°°1MX3) which is 71v5.

mooIN supports this view:
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' The marginal gloss indicates that this 90 is referencing the 7awn on 2,10.
2 See "7 R"D ivm *pr1 i 0",
? See the Xm3 on 2 Tmy. The term 71w refers to an animal killing its prey (first) and then eating it. This is the manner
in which a a&t (wolf) hunts.
* 977 refers to an animal that eats its prey while it is still alive. This is the custom of an ™ (a lion). It is also the
custom of the X to 177 7Y; kill its prey in order to store it in its den (for its cubs, etc.).
> Presumably they will become a 79 after three times.
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As 9xw stated in the X7%3; a lion who was %581 77 in the 1"77 is Mws.’

mooIN anticipates a difficulty concerning this rule that 7"772 they are 777X Mo for it is 7"772 W
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And this ruling applies even by a snake that has no benefit from his bite, as the

X3 states in the first P25 of n%yn noon -
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That all the animals gathered around the snake and say to him what benefit

do you have from your biting. This concludes the ¥3 in n°ayn. The anticipated question is
since the wni does not have 71°17% 1R, why should it be 2"7772 Mwd; it is not [Ww?!

mooin replies that indeed it may not be 2 -
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Nevertheless since this is its customary manner to bite, this damage is
considered as 937 (where there is also no p°1% 7X177) and is therefore 2" =W,

mMooIn anticipates one additional difficulty in this issue and resolves it:
$IINN 22X MY DPUNTNI PPN 1I9NNT 2 DY 4R TYINT N2 197 130 M1 XD

And the snake is not considered as 377 after it becomes a 7¥%2, even though it

intends to damage; since the 71w» mentions the snake together with the other
wild animals. One would think that since the w1 has no 7p*1A% X171 and it is P> oM.’ it
should be like a 797 which is a 1:]1?3,10 and be 211 a w"1 in the 7"77. MdOIN rejects this notion, and
proves that it is not so, since the 71w» mentions wn1 together with the other 2°p>m, this proves that
just as the others are 1"772 M, the same applies to wm."!

SUMMARY
All the n1m are 217 a w"1 in the P17 MW if they damaged 717X, and are 709
2"772. If they damaged 171782 X9Ww they are 21 a 1.

THINKING IT OVER
According to NMooN the 0°1°7 of N1’ are the same as M»nn2. Is there any reason why
the mwn singles out these wild animals?'?

619 10y 1pb.
" However if he was 7"7372 %281 770 (which is not 7°117X) he is 217 (a 1" for it is 7"772 17p). See 2711 7"7 [2"v] "W
¥ A snake merely bites a person and kills him even though he does not eat him. See >"@1 there 721 1"7.
® This distinguishes it from 931, which is P17 1013 P, and makes it similar to 777,
10 The biting of a wn1 should be considered a 7v1 even the first time, since it is *272 777X,
' moon does not explain why a w1 is not considered j7p. See 1"l who explains that the 773 of 77p is that this 731 is
71wn from all other nma. Therefore the 770 is lenient until it becomes a 7¥1. All o°wni, however, are initially
conditioned to bite; it is ¥1°1; therefore it cannot be considered 17p, but rather 737, w">u.
12 See 'n Nk 7"90.
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